

145 Huguenot Street, 8th Floor New Rochelle, New York 10801 Contact representative

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com

Office Phone:

Phone: 317-514-6515

QUOTE: 80774

Customer:

IAKSS Fayette County PS PO Box 55490 Lexington KY 40555 United States Ship To:

S Marshall Rm 459

Title 1 Department - FCPS warehouse

450 Park Place, Room 459

Lexington KY 40511

Express! Asset-based Access to English Gr. K Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 1 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026	1-Year 1-Year	\$105.00 \$105.00	38	\$3,990.00 (\$1,330.00) \$3,990.00
10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 1 Teacher Digital Renewal Subscription Prorated 8 month renewal to span	1-Year	\$105.00	38	
Gr. 1 Teacher Digital Renewal Subscription Prorated 8 month renewal to span	1-Year	\$105.00	38	\$3 990 00
Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				ψ3,330.00
				(\$1,330.00)
Express! Asset-based Access to English Gr. 2 Teacher Digital Renewal Subscription	1-Year	\$105.00	38	\$3,990.00
Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$1,330.00)
Express! Asset-based Access to English Gr. 3 Teacher Digital Renewal Subscription	1-Year	\$105.00	38	\$3,990.00
Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$1,330.00)
Express! Asset-based Access to English Gr. 4 Teacher Digital Renewal Subscription	1-Year	\$105.00	38	\$3,990.00
Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$1,330.00)
Express! Asset-based Access to English Gr. 5 Teacher Digital Renewal Subscription	1-Year	\$105.00	38	\$3,990.00
Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$1,330.00)
	1-Year	\$15.00	1,000	\$15,000.00
	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 4 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 5 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 5 Teacher Digital Renewal Subscription	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 4 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English 1-Year Gr. 5 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 4 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English Gr. 5 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English 1-Year \$105.00 Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English 1-Year \$15.00	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English 1-Year \$105.00 38 Gr. 4 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English 1-Year \$105.00 38 Gr. 5 Teacher Digital Renewal Subscription Prorated 8 month renewal to span 10/31/2025 - 6/30/2026 Express! Asset-based Access to English 1-Year \$15.00 1.000

Page: 1 of 4	Customer #: B00383046 Quote: 80774		
Quote Date: 5/7/2025	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 80774

Contact representative

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com

Office Phone:

Phone: 317-514-6515

Product Code	Title	Price Level	Unit Price	Qty	Total Price
Price Adjustment	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$5,000.00)
X93416R	Express! Asset-based Access to English Gr. 1 Student Digital Renewal Subscription	1-Year	\$15.00	1,000	\$15,000.00
Price Adjustment	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$5,000.00)
X93417R	Express! Asset-based Access to English Gr. 2 Student Digital Renewal Subscription	1-Year	\$15.00	1,050	\$15,750.00
Price Adjustment	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$5,000.00)
X93418R	Express! Asset-based Access to English Gr. 3 Student Digital Renewal Subscription	1-Year	\$15.00	938	\$14,070.00
Price Adjustment	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$5,000.00)
X93419R	Express! Asset-based Access to English Gr. 4 Student Digital Renewal Subscription	1-Year	\$15.00	850	\$12,750.00
Price Adjustment	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$5,000.00)
X93420R	Express! Asset-based Access to English Gr. 5 Student Digital Renewal Subscription	1-Year	\$15.00	600	\$9,000.00
Price Adjustment	Prorated 8 month renewal to span 10/31/2025 - 6/30/2026				(\$5,000.00)

Subtotal	Discount Total	Sales Tax	Shipping Cost	Total
\$67,530.00	\$0.00	\$0.00	\$0.00	\$67,530.00 USE

Memo			
Prorated Renewal Estimate: Subscription	ns to expire	6/30/2026	

Page: 2 of 4	Customer #: B00383046	Quote: 80774	
Quote Date: 5/7/2025	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 80774

Contact representative

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com

Office Phone:

Phone: 317-514-6515

* The above pricing cannot be combined with any other offers.

* Price valid through 6/15/2025. Price quote must be attached to school purchase orders to receive the quoted price.

* All digital subscriptions will end on July 31st the last year of the term purchased.

* Any changes, including cancellations to the originally agreed upon PD trainings, must be made at least 10 business days prior to the delivery of the PD trainings. Customized PD changes must be submitted at least 15 business days prior to agreed delivery date and must go through the customized request process. Benchmark Education will do its best to accommodate the requested changes; however, it reserves the right to render services according to the initial agreement. Please note that any changes requested may incur an additional charge or reduction of number of PD training days rendered. Please note that no changes can be requested on site and all requests must go through the Company approval process.

Page: 3 of 4	Customer #: B00383046	Quote: 80774	
Quote Date: 5/7/2025	E02015 Eric Jurman		



145 Huguenot Street, 8th Floor New Rochelle, New York 10801

QUOTE: 80774

Contact representative

Green Valley Curriculum Resources

Email: greenvalleycurriculumresources@gmail.com

Office Phone:

Phone: 317-514-6515

	PLEASE INCLUDE TH	IIS PROPOSAL WITH YOUR PURCH	HASE ORDER ALONG WITH THE FOLLOWING INFORMATION
	Billing Contact Name		
Billing Contact Email			
Billing Contact Phone			
	PLEASE INCLUDE TH	IE FOLLOWING INFORMATION FO	R ALL DIGITAL SUBSCRIPTIONS
	 Name of School(s) The Attach separate documents 	nat Will Use the Subscription(s) nent if necessary	
	 Onboarding Tech Cor 	ntact Name	
	 Onboarding Tech Cor 	ntact E-Mail	
	• REQUIRED		
	SEND ORDER TO:	Benchmark Education Company 6295 Commerce Center Drive, Suit Email: neworders@benchmarkeduc Phone: 877-236-2465 Fax: 877-73.	cation.com

Terms of Service

* By placing an order for Benchmark Education Company ("BEC") products (the "Products"), the entity ("Customer") that this proposal has been prepared for agrees to be bound by BEC's Terms of Service and Terms of Use and Privacy Policy (Please visit this site: https://help.benchmarkuniverse.com/bubateacher/Content/Customer%20Support/Privacy%20Policy.htm?Highlight=privacy). Subject to the Customer's payment of the fees set out above, BEC grants to Customer a non-exclusive and non-transferable license to access and use the Products under the terms described in this Terms of Service. The proposal contains the scope of use allowed and the term of Customer's license to the Products.

Soc Ph

Page: 4 of 4	Customer #: B00383046	Quote: 80774	
Quote Date: 5/7/2025	E02015 Eric Jurman		